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QUESTION 1

An administrator has a 32-node hybrid cluster with CPU, RAM and storage utilization of 80%. A database VM is
configured with VM Flash. What is causing this 10 latency?

A. Controller VM is experiencing high CPU ready time.
B. Curator scans causes by ILM constantly moving data.
C. VM Flash Mode reduces SSD tier capacity for VMs.
D. Database VM is experiencing high CPU ready time.

Correct Answer: A

QUESTION 2

During the Knowledge Transfer, the customer askes where to find the details about their Nutanix environment, such as
IP addresses, storage containers, and configuration.

Where can the consultant find this information?
A. Support Portal

B. As-Built Guide

C. Test Plan

D. Tech Checklist

Correct Answer: B

QUESTION 3

A customer with a four-node RF2 cluster is addingapplication VMs to their system. After adding these VMs, the Prism
dashboard shows 81% storage utilization. What is the consequence of running the cluster at 81% storage utilization?

A. The customer has the ability to add more VMs up to the 100% storage utilization.
B. There is available capacity in the storage fabric and the cluster is resilient.

C. Node failure is imminent due to storage utilization.

D. The cluster is not resilient in the storage fabric

Correct Answer: D

Explanation: https://next.nutanix.com/how-it-works-22/recommended-maximum-storage- utilization-37234
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QUESTION 4

An administrator is supporting a business critical environment and deploys metro availability to achieve a zero data loss
configuration. The two clusters are connected by a 1GbE connection. A new workload is going to be deployed to this
cluster. This workload requires a sustained 150MB/S of write throughput and 20MB/s of read throughput.

Which change must be made to deploy the workload successfully on this cluster?

A. The bandwidth must be increased tosupport this workload.

B. The workload must be configured to read at greater than 12.5MB/S.

C. The replication frequency must be less than 60 minutes.

D. Zero data loss nearsync must be used to support this workload.

Correct Answer: A

QUESTION 5

Anadministrator recently added VLAN 205 CRM in Prism Element. The workloads attached to the associated NICs are
unable to establish network connectivity. Which Layer 2 protocol allows the administrator to troubleshoot this issue from
Prism Element?

A. HDLC

B. SUP

C.LACP

D. LLDP

Correct Answer: D
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